## FOLIA 385

# Annales Universitatis Paedagogicae Cracoviensis Studia Mathematica 22 (2023) 

## Bağdagül Kartal <br> Necessary and sufficient conditions for the inclusion relation between two summability methods


#### Abstract

In this paper, a general theorem gives necessary and sufficient conditions for the inclusion relation between $\varphi-|A, \beta ; \delta|_{k}$ and $\varphi-|B, \beta ; \delta|_{k}$ methods is proved.


## 1. Introduction

Let $\sum a_{n}$ be an infinite series with its partial sums $\left(s_{n}\right)$. Let $A=\left(a_{n v}\right)$ be a normal matrix, i.e. a lower triangular matrix of nonzero diagonal entries. Then $A$ defines the sequence-to-sequence transformation, mapping the sequence $s=\left(s_{n}\right)$ to $A s=\left(A_{n}(s)\right)$, where

$$
A_{n}(s)=\sum_{v=0}^{n} a_{n v} s_{v}, \quad n=0,1, \ldots
$$

Let $\left(\varphi_{n}\right)$ be any sequence of positive real numbers. The series $\sum a_{n}$ is said to be summable $\varphi-|A, \beta ; \delta|_{k}, k \geq 1, \delta \geq 0$ and $\beta$ is a real number, if (see [16]),

$$
\sum_{n=1}^{\infty} \varphi_{n}^{\beta(\delta k+k-1)}\left|A_{n}(s)-A_{n-1}(s)\right|^{k}<\infty
$$

For $\beta=1$ and $\delta=0$, we get $\varphi-|A|_{k}$ summability method (see [13]).

[^0]Let $A=\left(a_{n v}\right)$ be a normal matrix, then two lower semimatrices $\bar{A}=\left(\bar{a}_{n v}\right)$ and $\hat{A}=\left(\hat{a}_{n v}\right)$ are defined as follows:

$$
\begin{gather*}
\bar{a}_{n v}=\sum_{i=v}^{n} a_{n i}, \quad n, v=0,1, \ldots,  \tag{1}\\
\hat{a}_{00}=\bar{a}_{00}=a_{00}, \quad \hat{a}_{n v}=\bar{a}_{n v}-\bar{a}_{n-1, v}, \quad n=1,2, \ldots \tag{2}
\end{gather*}
$$

and

$$
\begin{equation*}
\bar{\Delta} A_{n}(s)=A_{n}(s)-A_{n-1}(s)=\sum_{v=0}^{n} \hat{a}_{n v} a_{v} . \tag{3}
\end{equation*}
$$

If $A$ is a normal matrix, then $A^{\prime}=\left(a_{n v}^{\prime}\right)$ denotes the inverse of $A$, and $\hat{A}=\left(\hat{a}_{n v}\right)$ is a normal matrix and it has two-sided inverse $\hat{A}^{\prime}=\left(\hat{a}_{n v}^{\prime}\right)$ which is also normal (see [6]).

## 2. Known Results

There are many papers focused on sufficient or necessary conditions for absolute summability of infinite series, equivalence theorems for summability and the relative strength of absolute summability methods. In [1], Bor obtained the relative strength of two absolute summability methods. Bor, Srivastava and Sulaiman [5] achieved the sufficient conditions for summability of an infinite series by using generalized power increasing sequences. Özarslan and Özgen [18] proved a theorem gives necessary conditions for absolute matrix summability. Sezer and Çanak [20], Bor 2] obtained equivalence theorems on summability. Özgen [19], Özarslan and Karakaş [14], Özarslan and Kartal [15], [17], Sonker and Munjal [21, [22], Karakaş [7], Kartal [8, [9, Özarslan [10, 11], Bor and Agarwal [3], Bor and Mohapatra [4] obtained theorems on absolute Riesz, Cesàro and matrix summability of infinite series. Furthermore, the following theorem on the relative strength of two absolute matrix summability methods has been proved in [13].

Theorem 1
Let $k>1$. Let $A=\left(a_{n v}\right)$ and $B=\left(b_{n v}\right)$ be two positive normal matrices. In order that

$$
\begin{equation*}
\varphi-|A|_{k} \Rightarrow \varphi-|B|_{k} \tag{4}
\end{equation*}
$$

it is necessary that

$$
\begin{equation*}
b_{n n}=O\left(a_{n n}\right) \tag{5}
\end{equation*}
$$

If we suppose that

$$
\begin{gather*}
b_{n-1, v} \geq b_{n v} \quad \text { for } n \geq v+1  \tag{6}\\
\bar{a}_{n 0}=1, \quad \bar{b}_{n 0}=1, \quad n=0,1, \ldots  \tag{7}\\
a_{v v}-a_{v+1, v}=O\left(a_{v v} a_{v+1, v+1}\right)  \tag{8}\\
\sum_{v=1}^{n-1}\left(b_{v v} \hat{b}_{n, v+1}\right)=O\left(b_{n n}\right) \tag{9}
\end{gather*}
$$

$$
\begin{gather*}
\sum_{n=v+1}^{m+1}\left(\varphi_{n} b_{n n}\right)^{k-1} \hat{b}_{n, v+1}=O\left(\varphi_{v}^{k-1} b_{v v}^{k-1}\right),  \tag{10}\\
\sum_{n=v+1}^{m+1}\left(\varphi_{n} b_{n n}\right)^{k-1}\left|\Delta_{v}\left(\hat{b}_{n v}\right)\right|=O\left(\varphi_{v}^{k-1} b_{v v}^{k}\right),  \tag{11}\\
\sum_{v=r+2}^{n} \hat{b}_{n v}\left|\hat{a}_{v r}^{\prime}\right|=O\left(\hat{b}_{n, r+1}\right), \tag{12}
\end{gather*}
$$

then (5) is also sufficient.
Lemma 1 ([1])
Let $k \geq 1$ and $A=\left(a_{n v}\right)$ be an infinite matrix. In order that $A \in\left(l^{k} ; l^{k}\right)$ it is necessary that

$$
\begin{equation*}
a_{n v}=O(1) \quad(\text { all } \quad n, v) \tag{13}
\end{equation*}
$$

## 3. Main Result

The aim of this paper is to generalize Theorem 1 as in the following form.

## Theorem 2

Let $k>1$. Let $A=\left(a_{n v}\right)$ and $B=\left(b_{n v}\right)$ be two positive normal matrices. In order that

$$
\begin{equation*}
\varphi-|A, \beta ; \delta|_{k} \Rightarrow \varphi-|B, \beta ; \delta|_{k} \tag{14}
\end{equation*}
$$

condition (5) is necessary. If we suppose that (6)-(9), (12) and

$$
\begin{align*}
& \sum_{n=v+1}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)} b_{n n}^{k-1} \hat{b}_{n, v+1}=O\left(\varphi_{v}^{\beta(\delta k+k-1)} b_{v v}^{k-1}\right),  \tag{15}\\
& \sum_{n=v+1}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)} b_{n n}^{k-1}\left|\Delta_{v}\left(\hat{b}_{n v}\right)\right|=O\left(\varphi_{v}^{\beta(\delta k+k-1)} b_{v v}^{k}\right), \tag{16}
\end{align*}
$$

then (5) is also sufficient, where $\delta \geq 0$ and $-\beta(\delta k+k-1)+k>0$.
Proof. Necessity. Let $\left(I_{n}\right)$ and $\left(U_{n}\right)$ denote $A$-transform and $B$-transform of the series $\sum a_{n}$, respectively. By (3), we get

$$
\bar{\Delta} I_{n}=\sum_{v=0}^{n} \hat{a}_{n v} a_{v} \quad \text { and } \quad \bar{\Delta} U_{n}=\sum_{v=0}^{n} \hat{b}_{n v} a_{v}
$$

Then, we write $a_{v}=\sum_{r=0}^{v} \hat{a}_{v r}^{\prime} \bar{\Delta} I_{r}$ and $\bar{\Delta} U_{n}=\sum_{v=0}^{n} \hat{b}_{n v} \sum_{r=0}^{v} \hat{a}_{v r}^{\prime} \bar{\Delta} I_{r}$.

Since $\hat{b}_{n 0}=\bar{b}_{n 0}-\bar{b}_{n-1,0}=0$, we have

$$
\begin{aligned}
\bar{\Delta} U_{n}= & \sum_{v=1}^{n} \hat{b}_{n v} \sum_{r=0}^{v} \hat{a}_{v r}^{\prime} \bar{\Delta} I_{r} \\
= & \sum_{v=1}^{n} \hat{b}_{n v} \hat{a}_{v v}^{\prime} \bar{\Delta} I_{v}+\sum_{v=1}^{n} \hat{b}_{n v} \hat{a}_{v, v-1}^{\prime} \bar{\Delta} I_{v-1}+\sum_{v=1}^{n} \hat{b}_{n v} \sum_{r=0}^{v-2} \hat{a}_{v r}^{\prime} \bar{\Delta} I_{r} \\
= & \hat{b}_{n n} \hat{a}_{n n}^{\prime} \bar{\Delta} I_{n}+\sum_{v=1}^{n-1}\left(\hat{b}_{n v} \hat{a}_{v v}^{\prime}+\hat{b}_{n, v+1} \hat{a}_{v+1, v}^{\prime}\right) \bar{\Delta} I_{v} \\
& +\sum_{r=0}^{n-2} \bar{\Delta} I_{r} \sum_{v=r+2}^{n} \hat{b}_{n v} \hat{a}_{v r}^{\prime} .
\end{aligned}
$$

For $\delta_{n v}$ (Kronecker delta), by using equality $\sum_{k=v}^{n} \hat{a}_{n k}^{\prime} \hat{a}_{k v}=\delta_{n v}$, we get

$$
\begin{aligned}
\hat{b}_{n v} \hat{a}_{v v}^{\prime}+\hat{b}_{n, v+1} \hat{a}_{v+1, v}^{\prime} & =\frac{\hat{b}_{n v}}{\hat{a}_{v v}}+\hat{b}_{n, v+1}\left(-\frac{\hat{a}_{v+1, v}}{\hat{a}_{v v} \hat{a}_{v+1, v+1}}\right) \\
& =\frac{\hat{b}_{n v}}{a_{v v}}-\hat{b}_{n, v+1} \frac{\left(\bar{a}_{v+1, v}-\bar{a}_{v v}\right)}{a_{v v} a_{v+1, v+1}} \\
& =\frac{\hat{b}_{n v}}{a_{v v}}-\hat{b}_{n, v+1} \frac{\left(a_{v+1, v+1}+a_{v+1, v}-a_{v v}\right)}{a_{v v} a_{v+1, v+1}} \\
& =\frac{\Delta_{v}\left(\hat{b}_{n v}\right)}{a_{v v}}+\hat{b}_{n, v+1} \frac{\left(a_{v v}-a_{v+1, v}\right)}{a_{v v} a_{v+1, v+1}} .
\end{aligned}
$$

Therefore, we obtain

$$
\begin{aligned}
\bar{\Delta} U_{n}= & \frac{b_{n n}}{a_{n n}} \bar{\Delta} I_{n}+\sum_{v=1}^{n-1} \frac{\Delta_{v}\left(\hat{b}_{n v}\right)}{a_{v v}} \bar{\Delta} I_{v}+\sum_{v=1}^{n-1} \hat{b}_{n, v+1} \frac{\left(a_{v v}-a_{v+1, v}\right)}{a_{v v} a_{v+1, v+1}} \bar{\Delta} I_{v} \\
& +\sum_{r=0}^{n-2} \bar{\Delta} I_{r} \sum_{v=r+2}^{n} \hat{b}_{n v} \hat{a}_{v r}^{\prime} \\
= & U_{n, 1}+U_{n, 2}+U_{n, 3}+U_{n, 4} .
\end{aligned}
$$

Now, we write down the matrix transforming $\left(\varphi_{n}^{\frac{\beta(\delta k+k-1)}{k}} \bar{\Delta} I_{n}\right)$ into $\left(\varphi_{n}^{\frac{\beta(\delta k+k-1)}{k}} \bar{\Delta} U_{n}\right)$ by 13 . The assertion 14 is equivalent to the assertion that this matrix $\in\left(l^{k} ; l^{k}\right)$. Hence, by Lemma 1 . in order that $\varphi-|A, \beta ; \delta|_{k} \Rightarrow \varphi-|B, \beta ; \delta|_{k}$, the condition (5) is necessary.

Sufficiency. Let the conditions be satisfied. We will prove that $\varphi-|A, \beta ; \delta|_{k} \Rightarrow$ $\varphi-|B, \beta ; \delta|_{k}$. For this we need to show

$$
\sum_{n=1}^{\infty} \varphi_{n}^{\beta(\delta k+k-1)}\left|U_{n, r}\right|^{k}<\infty \quad \text { for } r=1,2,3,4 .
$$

First, we have

$$
\sum_{n=1}^{m} \varphi_{n}^{\beta(\delta k+k-1)}\left|U_{n, 1}\right|^{k}=\sum_{n=1}^{m} \varphi_{n}^{\beta(\delta k+k-1)} \frac{b_{n n}^{k}}{a_{n n}^{k}}\left|\bar{\Delta} I_{n}\right|^{k}
$$

Now, by (5) and using the fact that $\sum a_{n}$ is summable $\varphi-|A, \beta ; \delta|_{k}$, we get

$$
\sum_{n=1}^{m} \varphi_{n}^{\beta(\delta k+k-1)}\left|U_{n, 1}\right|^{k}=O(1) \sum_{n=1}^{m} \varphi_{n}^{\beta(\delta k+k-1)}\left|\bar{\Delta} I_{n}\right|^{k}=O(1) \quad \text { as } m \rightarrow \infty
$$

By using Hölder's inequality, we have

$$
\begin{aligned}
& \sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)}\left|U_{n, 2}\right|^{k} \\
& \quad \leq \sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)} \sum_{v=1}^{n-1} \frac{\left|\Delta_{v}\left(\hat{b}_{n v}\right)\right|}{a_{v v}^{k}}\left|\bar{\Delta} I_{v}\right|^{k}\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{b}_{n v}\right)\right|\right)^{k-1} .
\end{aligned}
$$

Here (17, (2), (4) and (7) imply $\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{b}_{n v}\right)\right|=\sum_{v=1}^{n-1}\left(b_{n-1, v}-b_{n v}\right) \leq b_{n n}$. Then, by (16) and (5), we have

$$
\begin{aligned}
\sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)}\left|U_{n, 2}\right|^{k} & \leq \sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)} b_{n n}^{k-1} \sum_{v=1}^{n-1} \frac{\left|\Delta_{v}\left(\hat{b}_{n v}\right)\right|}{a_{v v}^{k}}\left|\bar{\Delta} I_{v}\right|^{k} \\
& \leq \sum_{v=1}^{m} \frac{\left|\bar{\Delta} I_{v}\right|^{k}}{a_{v v}^{k}} \sum_{n=v+1}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)} b_{n n}^{k-1}\left|\Delta_{v}\left(\hat{b}_{n v}\right)\right| \\
& =O(1) \sum_{v=1}^{m} \varphi_{v}^{\beta(\delta k+k-1)}\left|\bar{\Delta} I_{v}\right|^{k} \\
& =O(1) \quad \text { as } m \rightarrow \infty
\end{aligned}
$$

Now, by (8), we get

$$
\begin{aligned}
\sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)}\left|U_{n, 3}\right|^{k} & =\sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)}\left|\sum_{v=1}^{n-1} \hat{b}_{n, v+1} \frac{\left(a_{v v}-a_{v+1, v}\right)}{a_{v v} a_{v+1, v+1}} \bar{\Delta} I_{v}\right|^{k} \\
& =O(1) \sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)}\left(\sum_{v=1}^{n-1} \hat{b}_{n, v+1}\left|\bar{\Delta} I_{v}\right|\right)^{k}
\end{aligned}
$$

Then by using Hölder's inequality, and the conditions (9), (15), we obtain

$$
\begin{aligned}
& \sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)}\left|U_{n, 3}\right|^{k} \\
& \quad=O(1) \sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)} \sum_{v=1}^{n-1} \hat{b}_{n, v+1} \frac{b_{v v}}{b_{v v}^{k}}\left|\bar{\Delta} I_{v}\right|^{k}\left(\sum_{v=1}^{n-1} \hat{b}_{n, v+1} b_{v v}\right)^{k-1}
\end{aligned}
$$

$$
\begin{aligned}
& =O(1) \sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)} b_{n n}^{k-1} \sum_{v=1}^{n-1} \hat{b}_{n, v+1}\left|\bar{\Delta} I_{v}\right|^{k} \frac{1}{b_{v v}^{k-1}} \\
& =O(1) \sum_{v=1}^{m} \frac{1}{b_{v v}^{k-1}\left|\bar{\Delta} I_{v}\right|^{k} \sum_{n=v+1}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)} b_{n n}^{k-1} \hat{b}_{n, v+1}} \\
& =O(1) \sum_{v=1}^{m} \varphi_{v}^{\beta(\delta k+k-1)}\left|\bar{\Delta} I_{v}\right|^{k} \\
& =O(1) \quad \text { as } m \rightarrow \infty .
\end{aligned}
$$

Finally, by using (12), we get

$$
\begin{aligned}
\sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)}\left|U_{n, 4}\right|^{k} & =O(1) \sum_{n=2}^{m+1} \varphi_{n}^{\beta(\delta k+k-1)}\left(\sum_{r=0}^{n-2}\left|\bar{\Delta} I_{r}\right| \hat{b}_{n, r+1}\right)^{k} \\
& =O(1) \quad \text { as } m \rightarrow \infty
\end{aligned}
$$

as in $U_{n, 3}$. This completes the proof of Theorem 2

## 4. Conclusion

In this paper, a theorem on the relative strength of two absolute matrix summability methods is generalized. In case of $\beta=1$ and $\delta=0$, the conditions (15), 16) reduce to the conditions (10), 11) respectively and so Theorem 2 reduces to Theorem 1 Also, in case of $\beta=1$, Theorem 2 reduces to the result in 12.

## References

[1] Bor, Hüseyin. "On the relative strength of two absolute summability methods." Proc. Amer. Math. Soc. 113, no. 4 (1991): 1009-1012. Cited on 6 and 7
[2] Bor, Hüseyin. "Some equivalence theorems on absolute summability methods." Acta Math. Hungar. 149, no. 1 (2016): 208-214. Cited on 6
[3] Bor, Hüseyin, and Ravi P. Agarwal. "A new application of almost increasing sequences to factored infinite series." Anal. Math. Phys. 10, no. 3 (2020): Paper No. 26. Cited on 6
[4] Bor, Hüseyin, and Ram Narayan Mohapatra. "An application of a wider class of increasing sequences." Trans. A. Razmadze Math. Inst. 175, no. 3 (2021): 327-330. Cited on 6
[5] Bor, Hüseyin, Hari Mohan Srivastava, and Waadallah Tawfeeq Sulaiman. "A new application of certain generalized power increasing sequences." Filomat 26, no. 4 (2012): 871-879. Cited on 6
[6] Cooke, Richard George. Infinite Matrices and Sequence Spaces. London: Macmillan \& Co. Limited, 1950. Cited on 6.
[7] Karakaş, Ahmet. "On absolute matrix summability factors of infinite series." J. Class. Anal. 13, no. 2 (2018): 133-139. Cited on 6
[8] Kartal, Bağdagül. "New results for almost increasing sequences." Ann. Univ. Paedagog. Crac. Stud. Math. 18 (2019): 85-91. Cited on 6
[9] Kartal, Bağdagül. "An extension of a theorem on Cesàro summability." Numer. Funct. Anal. Optim. 42, no. 4 (2021): 474-479. Cited on 6
[10] Özarslan, Hikmet Seyhan. "A new factor theorem for absolute matrix summability." Quaest. Math. 42, no. 6 (2019): 803-809. Cited on 6
[11] Özarslan, Hikmet Seyhan. "Generalized almost increasing sequences." Lobachevskii J. Math. 42, no. 1 (2021): 167-172. Cited on 6
[12] Özarslan, Hikmet Seyhan, and Tuba Arı. "Absolute matrix summability methods." Appl. Math. Lett. 24, no. 12 (2011): 2102-2106. Cited on 10.
[13] Özarslan, Hikmet Seyhan, and T. Kandefer. "On the relative strength of two absolute summability methods." J. Comput. Anal. Appl. 11, no. 3 (2009): 576583. Cited on 5 and 6
[14] Özarslan, Hikmet Seyhan, and Ahmet Karakaş. "A new result on the almost increasing sequences." J. Comput. Anal. Appl. 22, no. 6 (2017): 989-998. Cited on 6
[15] Özarslan, Hikmet Seyhan, and Bağdagül Kartal. "A generalization of a theorem of Bor." J. Inequal. Appl. 2017, Paper No. 179, 2017. Cited on 6
[16] Özarslan, Hikmet Seyhan, and Bağdagül Kartal. "On the general method of summability." J. Math. Anal. 9, no. 4 (2018): 36-43. Cited on 5 .
[17] Özarslan, Hikmet Seyhan, and Bağdagül Kartal. "Absolute matrix summability via almost increasing sequence." Quaest. Math. 43, no. 10 (2020): 1477-1485. Cited on 6
[18] Özarslan, Hikmet Seyhan, and Hatice Nedret Özgen. "Necessary conditions for absolute matrix summability methods." Boll. Unione Mat. Ital. 8, no. 3 (2015): 223-228. Cited on 6
[19] Özgen, Hatice Nedret. "On two absolute matrix summability methods." Boll. Unione Mat. Ital. 9, no. 3 (2016): 391-397. Cited on 6
[20] Sezer, Sefa Anıl, and İbrahim Çanak. "Conditions for the equivalence of power series and discrete power series methods of summability." Filomat 29, no. 10 (2015): 2275-2280. Cited on 6
[21] Sonker, Smita, and Alka Munjal. "Absolute $\varphi-|C, \alpha, \beta ; \delta|_{k}$ summability of infinite series." J. Inequal. Appl. (2017): Paper No. 168. Cited on 6
[22] Sonker, Smita, and Alka Munjal. "Sufficient conditions for infinite series by absolute $\varphi$-product summable factor." Tbilisi Math. J. 12, no. 4 (2019): 29-41. Cited on 6

Bağdagül Kartal<br>Department of Mathematics<br>Erciyes University<br>38039 Kayseri<br>Turkey<br>E-mail: bagdagulkartal@erciyes.edu.tr

Received: August 22, 2022; final version: August 22, 2022;
available online: March 28, 2023.


[^0]:    AMS (2020) Subject Classification: 40D25, 40F05, 40G99.
    Keywords and phrases: relative strength, absolute matrix summability, infinite series.
    ISSN: 2081-545X, e-ISSN: 2300-133X.

